For Student For Registrar For Advisor For Dean

DR RAJENDRA PRASAD CENTRAL AGRICULTURAL UNIVERSITY PUSA (SAMASTIPUR), BIHAR- 848 125

Faculty : C.B.S. & H. College : S.A.B. & R.M			Name	Dhananjay Thakur	F	Registration No.: SAB&RM(RM)/535/2021-22						
			Preparing for	MBA (Rural Management)	F	Roll No./ Year: 2108202016/2021						
			Standing at the start of semester	Good	5	Semester : 1 st Semester						
			For explantion of	of the system of marking and computation of	the r	esult see	e reverse	of this repo	rt.			
Sl. No.	Course No.		•	Title of Course		Credit hours	Grade Point	Credit Point	Grade Point Average	Remarks		
1	PGS 505	Agric	ultural Researc	h, Research Ethics and Rural		1	7.40	7.40				
2	PGS 501	Librai	Library and Information Services				7.10	7.10				
3	PGS 502	Techn	Technical Writing and Communications Skills French Language Paper-1				7.90	7,90				
4	BLF 501	Frencl					S	S				
5	MRM 503	Rural	Innovations &	Creativity		2	7.38	14.76				
6	MRM 504	Rural	Rural Entrepreneurship and Micro Entries			2	7.50	15.00	7.07			
7	MRM 531	Rural	Research Meth	ods	2 6.03	12.06						
8	MRM 501	Indian	Rural Society	and Rural Administration		2	7.15	14.30				
9	MRM 527	Indivi	dual and Orgar	izational Behaviour		2	6.33	12.66				
10	MRM 526	Manag	gerial Economi	cs		2	6.00	12.00				
11	MRM 502	Accou	inting for Rura	Management		2	8.20	16.40				
12	MRM 530	Busin	ess Analytics			1	7.60	7.60				
	Tota					18		127.18				
Cumu	lative Credit h	ours for	Research -	Total of Prev. Semes	ster							
				Cumulat	tive				÷.,			

SEMESTER REPORT

Previous -

Current-

Total-

OVERALL GRADE POINT AVERAGE STANDING AT THE END OF SEMESTER

Good

22

Prepared by

Checked by

12022 26 21 Dy. Registrar/Asstt. Registrar

A

For Student For Registrar For Advisor For Dean 11.71

DR RAJENDRA PRASAD CENTRAL AGRICULTURAL UNIVERSITY PUSA, SAMASTIPUR-848 125, BIHAR

College : S.A.B. & Registration No.: SAB&RM(RM)/535/2021-22 Name **Dhananjay** Thakur R.M Roll No./ Year: 2108202016/2022 Preparing for **MBA** (Rural Management) Standing at Semester : 2nd Semester Good the start of semester For explantion of the system of marking and computation of the result see reverse of this report. Credit Grade Credit Grade Remarks S1. Course No. Title of Course No. hours Point Point Point Average 7.43 7.43 PGS 504 Basic Concepts in Laboratory Techniques 1 1 2 7.40 14.80 2 MRM 532 **Operations Management** 2 7.90 15.80 3 MRM 505 Management of Cooperatives and Collectives 2 15.40 7.70 4 MRM 528 Human Resource Management and Organizational Develop 15.90 Marketing Management for Rural Organizations 2 7.95 8.33 5 MRM 507 8.70 MRM 591 Seminar 1 8.70 6 10 8.80 88.00 7 MRM 597 Field Internship 2 8.65 17.30 Financial Management for Rural Managers 8 MRM 506 22 Total 183.33 Total of Prev. Semester 18 127.18

SEMESTER REPORT

Cumulative Credit hours for Research -

Previous -Current-Total-

OVERALL GRADE POINT AVERAGE 7.76 STANDING AT THE END OF SEMESTER Good

Cumulative

40

Prepared by

Checked b

Dy. Registrar(Edn.)/Asstt. Registrar(Edn.)

310.51

11

For Student For Registrar For Advisor For Dean

DR RAJENDRA PRASAD CENTRAL AGRICULTURAL UNIVERSITY PUSA, SAMASTIPUR-848 125, BIHAR

SEMESTER REPORT

College : S.A.B. &		Name	Dhananjay Thakur Registration No.: SAB&RM(RM)/535/									
R.M			Preparing for	MBA (Rural Management)	Roll No	Roll No./ Year: 2108202016/2022						
			Standing at the start of	Good	Semester : 3 rd Semester							
			semester		L		<u></u>					
		For ex	xplantion of the sy	stem of marking and computation of the re-	esult see i	reverse of						
SI.	Course No			Title of Course	Credit	Grade	Credit	Grade	Remarks			
No.					hours	Point	Point	Point				
						-		Average				
1	BLF 502	Frend	French Language Paper-I				S	r.				
2	PGS 503	Intell	ectual Property	and its Management in Agriculture	1	8.10	8.10					
3	MRM 529	Strate	egic Manageme	nt	2	7.25	14.50					
4	MRM 508	Civil	Society and NO	1	7.15	7.15	9.66					
5	MRM 509	Deve	lopment Advoc	acy and Communication	2	8.40	16.80	8.66				
6	MRM 521	Beha	vioural Econon	nics	1	8.00	8.00	× 1				
7	MRM 598	Sum	mer Internship		10	9.30	93.00					
8	MRM 516	Big-	Data and Busine	ess Intelligence	1	8.30	8.30					
	1			· Total	18		155.85					
Cum	Cumulative Credit hours for Research Total of Prev. Semester Cumulative						310.51					
						ii.	466.36					

Previous -

Current-

Total-

Prepared by

Checked by

OVERALL GRADE POINT AVERAGE

STANDING AT THE END OF SEMESTER

Dy. Registrar(Edn.)/Asstt. Registrar(Edn.)

8.04

Good

24



DR RAJENDRA PRASAD CENTRAL AGRICULTURAL UNIVERSITY PUSA, SAMASTIPUR-848 125, BIHAR

SEMESTER REPORT

College : S.A.B. &	Name	Dhananjay Thakur	Registration No. SAB&RM(RM)/515/2021-22 Roll No./ Year : 2108202016/2022 Semester : 4 th Semester						
R.M	Preparing for	MBA (Rural Management)							
	Standing at the start of	Good							
For	semester explantion of the	system of marking and computation of the	result see	teverse (of this report	t.			
SI. Course No. No.		Title of Course	Credit hours	Grade Point	Credit Point	Grade Point	Remarks		
1 MRM 533 Jnfr	mation Com	unication, Technology (ICT) & MIS	2	7.90	15.80	Average			
2 MRM 510 Rur			2	7.10	14.20				
3 MRM 517 Sup	ply Chain Man	agement	ı	6.60	6.60				
4 MRM 514 Mo	nitoring and Ev	1	7.50	7.50	8.48				
5 MRM 599 Pro	ject Work		10	9.20	92.00				
6 MRM 512 Run	al Banking and	Micro-Finance	1	8.05	8.05				
1		Total	17		144.15	· · · · ·			
Cumulative Credit hour	58		466.36						
		Cumulative	75		610.51				

 Current OVERALL GRADE POINT AVERAGE
 8.14

 Total STANDING AT THE END OF SEMESTER
 Good

5-19.9.23 Prepared by

19.9

Checked by

NB Dy. Registrar(Acad.)